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��������� ��� M n ������ ��� n�� ������ ����� �� ��� ��� �� ��� ����������� ���� ��� ��
��� �����!�� [0, 1], Pn ���  ������ ������� ���� �� ��� ��� Mn ��� rn+1 ��� ��"���� ���#�
�� ��� (n + 1)�� ������� ������������# �� � ������ ������ ����� Cn $��� ������� ����
Pn �� Mn. %� �� �� ��!���� ���������� ���������� �� ��� ���������� ������� (r�nt�+1)t∈[0,T ]

�� n → ∞. �� ������ ��� $��& ���!��#���� �� � �� ����� ������� ��� � ���#� ��!������
��������� ��� �����������'

��� ������ ������ ������ ���! ���"��#���� $��#� ��"%��%��� �����%��$

������� ���#� �& �'� ������ ����� (���)�%���%(*�%��+

�((��"%���� �%�$�� ��������%� �������%�� �& �'� ���#� �������+

��� �*(,��� �$���%-���%��� ./�0/ 1/
/2
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����� �
��	� ��� ���������� ���� ���� ������ ��� !"#� $� �
�� ����	 �� ���� ������ �� ����

����
����� ������ �
� ��%� �� �
� ������� ����� �� �	�
�
����� �����	�� �� �
� ����	��� [0, 1]�

&� 
� �	����� ��� P([0, 1]) ������ �
� ��� �� ��� �	�
�
����� �����	�� �� �
� ����	��� [0, 1]�

'�	�
�	� ��� ��	 n ∈ N∗� Φn(x) := (x, x2, . . . , xn) ������ �
� �����	 �� ��������� �� �� �
�

�	��	 n ���

Mn :=

{∫ 1

0

Φn(x)µ(dx) : µ ∈ P([0, 1])

}
⊂ R

n


� �
� n�
 ������ ������ (
�������� Mn �� � ��
��� �� �
� ��
� [0, 1]n ��� �� �� �
� ������


��� �� �
� ��	�� (Φn(x))x∈[0,1] �� Rn. ) �����	 c ∈ Rn �� �� ������� �� Mn ��� ��� ���� ���

�
� ���

Sn(c) :=

{
µ ∈ P([0, 1]) :

∫ 1

0

Φn(x)µ(dx) = c

}

�� ��� ������ &
� ��� Mn �� � ��	� ����� ������� ��
��� �� �
� ���� ��
� [0, 1]n ���
 ������

*��(Mn) =

n∏
k=1

Γ(k)Γ(k)

Γ(2k)
≈ c · 2−n2

�



���� +�	��� ��� ,������ ���--"� �� �.�# ��� 
�� � ��	� ����������� ������	�� ��	����	�

���� ,
�
�� ��� &���	/�� ���01" �	 +�	��� ��� ,
������ ���21"#� )� �
� ������ �����

Mn 
�� � ��� ���� ����	��	 �� ��� ��3�� Pn �� �
� �����	� ����	�
����� �� �
� ��� Mn.

&
� ���������� ��	 �������� � �����	� ����	�
����� �� �
� n�
 ������ ����� ����� �	��

�� ������� �� �
���� � 
����	 ����	�������� �� �
� �
��� ��� ��	����	� �� �
� ��� Mn 
�

���/���� �� ���� ����� �� � ������� ����� �� �
� ��� Mn ���� 4
���� +����	��� ��� ,������

����1"� 5���� �����"� ��� 5��
�� ��� ����%��4
��� �.660"#� $� Cn �� � 	����� �����	

���
 ����	�
����� Pn ���� ��	 k ∈ {0, . . . , n}� Πk
n �� �
� ����	�� �	�������� ���	���	 �	�� Rn ��

Rk, �
��� ���
�	� ����������� �
� ���������� 
�
�����	 �� �
� 	����� �����	 Z
(k)
n = Πn

k(Cn)

�� n → ∞ ��� k �� 3���� $� ��	������	 � ��	��� ����� �
��	�� ��� ���� ��	�� ���������

�	������� ��78" ��	 ��������� �� Z
(k)
n �	� ����
���
�� �� �
��� 	���	������

&
� �	����� ����	 �� ������� �� �
� �	�
��� �� �������� 	����� ��	��
��� �� �
� ������

����� Mn, �
�	� �
� ����� k ��	��� ���
 �
� ��������� �� Mn �� n → ∞. $� ��	������	 ��

�	� ����	����� �� �
� 	���� �� �
� ������ ����� Mn+1, �
��
 ��� 
� ����	�	���� �� �
� ����


�� Mn+1 �� �
� (n+ 1)�
 ���	������� �� �
� 3	�� n ���	������� �� � 9�������: ����� �� Mn �	�

3���� &� 
� �	����� ��� ��	 c ∈Mn� ������ 
�

rn+1(c) := sup
µ1,µ2∈Sn(c)

∫ 1

0

xn+1d(µ2 − µ1)(x) ����"

�
� (n + 1)��
 ������ 	���� rn+1(c). ;� ���� ����� �
� ���������� �	���	���� �� �
� 	����

�	�����

Rn
t := 4�nt�r�nt�+1

(
Π�nt�

n (Cn)
)
, t ∈ [0, T ], ���."

�
�	� Cn �� � 	����� �����	 ���
 ����	�
����� Pn �� �
� ��� Mn, 0 < T < 1 ��� �γ�
������� �
� ������	 ��	� �� γ ∈ R. $� ��	������	 �� �	��� � ��� �� ��	�� ���
�	� ��	 �
�

�	����� (Rn
t )t∈[0,T ], ���/ �����	����� �� �� ���	��	������ ������	��%�� ��	���� �� (Rn

t )t∈[0,T ]

�� � 5������� �	������ ��� ����
���
 � ��	�� ��������� �	������� ���
 � ���� 	��� ���������

&
� 	�������� ��	� �� �
� ����	 �� �	����%�� �� �������� &
� ���� 	������ �	� ������ ��

,������ .� ;� ���� ��/� ��������� ��� �� �
� ��������� ���	������� ���	������ 
� ,/�
���/�

���-!"� �
��
 ���� 
� �
� ���� ���� ��	 �
� ��	������� �� �
� ���������� �	���	���� �� �
�

�	����� (Rn
t )t∈[0,T ]. &
� �	���� �� ��	 ���� 	������ �	� �	������� �� ,������ 1� �
��� ����

��	� ���
����� �	������� 	���	���� �	���	���� �� �
� 
��� ����	�
����� ��� ����� ��������

�	� ����� �� ,������ 0�

.� 	
��
����� 
��
�����
 �� ��� 
����

 (Rn
t )t∈[0,T ]

.��� ���$%�%���%��+ &
� ���� ���� ��	 ��	 �������������� �� �
� ���������� �	���	���� ��

�
� �	����� (Rn
t )t∈[0,T ] �� �
� 	��	���������� �� �
� 	����� ��	��
��

rk+1

(
Πk

n(Cn)
)
, (n ∈ N, k ∈ {0, . . . , n}) �.��"

�� � �	����� �� ����������� 	����� ��	��
���� &
�� 	��	���������� �� ��
����� 
� ���	�������

9���������: ���	������� �
��
 ��� �
� ����	��	 �� �
� n�
 ������ ����� Mn �� � ��� �� ���

�����	 ���� �
� ���� ��
� (0, 1)n ���� ,/�
���/� ���-!"#� &� 
� �	����� ��3�� ��	 k = 2, 3, . . .



��� ��	 � ����� ����� (c1, . . . , ck−1) ∈ Mk−1 c
+
k = c+k (c1, . . . , ck−1) ��� c−k = c−k (c1, . . . , ck−1)

�� �
� ��	���� ��� �������� ����� �� ck ���
 �
�� (c1, . . . , ck) ∈ Mk, �
�� ��

c−k = min
{∫ 1

0

xkµ(dx) | µ ∈ Sk−1(c1, . . . , ck−1)
}
,

c+k = max
{∫ 1

0

xkµ(dx) | µ ∈ Sk−1(c1, . . . , ck−1)
}
.

<��� �
�� c−k ≤ ck ≤ c−k ��� �
�� 
��
 ���=�������� �	� ��	��� �� ��� ���� �� (c1, . . . , ck−1) ∈
���Mk−1 �
�	� ���B ������� �
� ����	��	 �� �
� ��� B ���� ,/�
���/� ���-!"#� '�	 � ������

����� c = (c1, . . . , cn) �� �
� ����	��	 �� Mn �
� ��������� ������� �	 ��������� ���	�������

�� c �	� ��3��� 
�

p1 = c1, ��� pk =
ck − c−k
c+k − c−k

=
ck − c−k

rk(c1, . . . , ck−1)
k = 2, . . . , n �.�."

<��� �
�� 0 < pk < 1 (k = 1, . . . , n) �� (c1, . . . , cn) ∈���Mn� ��� �
�� �
� ��3������ �.�."

��3��� � ��� �� ��� ������� 
������ ���Mn ��� �
� ���� ���� ��
� (0, 1)n. '�	 ��	� �������

	���	���� ��������� ������� �� 	���	 �� �
� ��	/ �� ,/�
���/� ���-!� ��- � ��-�" ��� ��

�
� �����	��
 �� 7���� ��� ,������ ����!"� $� ��	������	 �� �� �
��� �� �
��� 	���	�����

�
�� �
� 	���� ��� 
� 	��	������� ��

rk+1(c1, . . . , ck) =
k∏

j=1

pj(1 − pj), (k ≥ 1). �.�1"

��	����	� �	�� �
� 	��	���������� �.�." �� �� ���� �� ��� �
��

∂ck
∂pj

=

{
0 �� j > k

rk = rk(c1, . . . , ck−1) �� j = k
�.�0"

����
 �
� ���������� r1 = 1), ��� �����=������ �
� ��������� ������� p
(n)
1 , . . . , p

(n)
n ��

	����� ������ �����	 Cn ���
 � �����	� ����	�
����� �� Mn 
��� � ������� ����� 
�

n−1∏
j=1

Γ(2n− 2j)

(Γ(n− j))2

n∏
j=1

rj =

n−1∏
j=1

Γ(2n− 2j)

(Γ(n− j))2

n−1∏
j=1

(pi(1 − pi))
n−i. �.�2"

$� ��
�	 ��	�� �
� (k + 1)�
 	���� �� � 	����� ������ ����� Cn ��� 
� 	��	������� ��

rk+1

(
Πk

n(Cn)
)

=
k∏

j=1

[
pn

j (1 − pn
j )
]
, (n ∈ N, k ∈ {0, . . . , n}), �.�-"

�
�	� (pn
j )n∈N,1≤j≤n �� � �	�������	 �		�� �� ����������� 	����� ��	��
��� ��� ��	 j =

1, . . . , n−1 �
� 	����� ��	��
�� pn
j ������� � β(n− j, n− j) ����	�
������ &
� 	��	����������

�.��" ���� 
� ��������� ��	 ��	 �������������� �� �
� ���������� �	���	���� �� �
� 	���� �	�����

�� �
� ��������� ����������� $� �
� �
��� ����	� �� ��/� �
� ���������� �
�� log τ = −∞
�
�����	 τ ≤ 0 ��� �� ������ �
� ��� �� ��� ���������� ��������� �� [0, T ] 
� C([0, T ])�



.�.� 
�� �& $��#� �*�(��� ��� ���! ���"��#����+ $� �
� �	����� ��� ���� ���������

(Rn
t )t∈[0,T ] ���� 
� �������	�� �� � �	����� ���
 ������������ ���
��� &
��� �� �������	 �����	�

����� �� ,/�	�
�� �������� ���� �>���������������"##� ��	����	� �� ���� ������ 
� �
� ���
��

� �
� �����	����� �� ����	�
������

�'����� 3+0+ ��	 0 < T < 1
 (Rn
t )t∈[0,T ] ����
	�
� �� �	��������� ����	�� ��
 �
�
	��������

�	��
�� (
√

1 − t)t∈[0,T ]�

�'����� 3+3+ �
� (Bt)t∈[0,T ] �
���
� ��
 ������	� �	������ ������
 ��
� ��	 ��� 0 < T < 1

�
 ���
 ((
Rn

t√
1 − t

)√
n
)

t∈[0,T ]

�
(

exp
1√
2

∫ t

0

dBu

1 − u

)
t∈[0,T ]

.

.�1� 
��#� ��"%��%���+ ?����� ���� ��	 ������� �7��
� ��� @����������� "#" �
�� � ���

=����� (Qn) �� �	�
�
����� �����	�� �� � �����	�
�� A�����	B ����� (U,B(U)) �����3�� �

��	�� ��������� �	������� ��78" ���
 	��� �������� I ��

�" I �� ����	 �������������� ����"� ���
 ������ �� R+ ∪ {+∞}�
��" '�	 ��� �����	�
�� ��� A �� U C

−I($��A) ≤ lim inf
n→∞

1

n
logQn(A) ≤ lim sup

n→∞

1

n
logQn(A) ≤ −I(4��A),

�
�	� I(A) = infξ∈A I(ξ) ��� $��A �	���� 4��A" �� �
� ����	��	 �	���� �
� �����	�" ��

A�

��	����	� �
� 	��� �������� I �� ������ ���� �� ��� ����� ���� {x ∈ U : I(x) ≤ a} �	� �������

��	 ��� a ≥ 0� ��	� ����	����� � ��=����� �� U������� 	����� ��	��
��� �� ���� �� ������� �

�78 �� �
��	 ����	�
������ ������� � �78�

$� �	��	 �� ��/� �
�� ����	 �������������� ��� �� 	����� ���� /���� ����� ��� ����� �� �
�

�
��	� �� ��	�� ���������� �
��
 ���� 
� ������ �� �
� ����	 ��� 	���	 �� �7��
� ��� @����������� "#

��	 ��	� 	������ 	���	���� ��	�� ����������"� $� ��	������	 �� ���� ��� �
� ��������� ��� ����

����� �
	���
��� �
�� ����	�

• ��������%�� ��%��%�$�� )����� �
�� (Qn) �����3�� �� �78 �� (U,B(U)) ���
 ����

	��� �������� I� ��� T 
� � ���������� ������� �	�� U �� ����
�	 ����� V � &
���

(Qn ◦ T−1) �����3�� �� �78 �� (V,B(V )) ���
 ���� 	��� ��������

I ′(y) = inf
x:T (x)=y

I(x), (y ∈ V ).

• 
4������%�$ �����4%���%��� )����� �
�� U �� � ���	�� ����� ��� ��� d �������

�
� ���	�� �� U � ��� (Xn)n∈N 
� � U������� 	����� ��=����� ���������� �� �78

���
 ���� 	��� �������� I� ��� (Yn)n∈N 
� ����
�	 U������� 	����� ��=������ $� ��	

��� ξ > 0

lim sup
n→∞

1

n
log P(d(Xn, Yn) > ξ) = −∞,

�
�� (Yn)n∈N �
�	�� �
� ���� �78 �� (Xn)n∈N�



$� �
� ��������� ��� BV ([0, T ]) ������ �
� ��� �� ��� 	��� ������ ��������� �� 
������ ��	������

�� �
� ����	��� [0, T ]� ;� �������� BV ([0, T ]) ���
 �
� ��� M([0, T ]) �� ��� 	��� �����	��

�� [0, T ]� $������ �� f �� �� ������� �� �
� ��� BV ([0, T ])� �
�	� ������ � ���=�� �����	�

µf ∈ M([0, T ]) ���


f(u) =

∫ u

0

µf(dt) =

∫ u

0

µ+
f (dt) −

∫ u

0

µ−
f (dt), �.�!"

�
�	�� ��	 µ ∈ M([0, T ])� µ = µ+ − µ− �� �
� D�	��� ������������� �� �
� �����	� µ�

&
� ��
����� ������������� �� �
� �����	� µ ���
 	������ �� �
� ��
����� �����	� ���� 
�

������� ��

µ(du) = hµ(u)du+ σµ(du). �.� "

E� �� �
� ������3������ �� BV ([0, T ]) 
� M([0, T ])� C([0, T ]) �� �
� ����������� ���� ��

BV ([0, T ])� &
��� �� ����� BV ([0, T ])���
 �
� ���/�∗ �������� �������� (BV ([0, T ], C([0, T ])"�

���

BV +
0 ([0, T ]) = {f ∈ BV ([0, T ]) : f(0) = 0, f ��� ���	������ �� [0, T ]} , �.��"

���

BV −
1 ([0, T ]) = {f ∈ BV ([0, T ]) : f(0) = 1, f > 0, f ��� ���	������ �� [0, T ]} . �.��6"

�'����� 3+1+ ��	 ��� 0 < T < 1
 ��
 �	��
�� (Rn
t )t∈[0,T ] ������
� �� ��� �� BV −

1 ([0, T ])

���� 	��
 �������� I1� I1 �� � ���� 	��
 �������� ����� �� ���� ����
 ��	 ��������� f ∈
BV −

1 ([0, T ])� ���

�
 ��	 f ∈ BV −
1 ([0, T ]) ��
 	��
 �������� ��� ��
 	
�	
�
�������

I1(f) := −1

2

∫ T

0

log
[
2(1 − u)hµlog(1/f)

(u)
]
du

+

∫ T

0

(1 − u)µlog(1/f)(du) − T

2
. �.���"

E���� �
� �
���� �� ��	��
�� ��	���� ��	 ,������� �����	��� ���� ��	 ������� �8	����	 �.660"#

&
��	�� 20"� �� �
���� �
� ��������� 8	����������

������%�%�� 3+5+ �
� f ∈ BV −
1 ([0, T ]) ��� �	��


µf (du) = −µd
f(du) + δ0(du) −

∑
j∈Af

af
j δtfj

(du),

��
	
 µd
f �� � �����
 �������
 �
���	
 ��� ��
 �
���	
 µf ���  ���� �� ��
 �������
 ������

(tfj )j∈Af
� !�
�


log

(
1

f(t)

)
=

∫ t

0

µd
f(du)

f(u)
+

∑
j∈Af :tfj ≤t

log

(
1 +

af
j

f(tfj )

)
.



"�	
��
	


I1(f) = −1

2

∫ T

0

log
[
2(1 − u)hµf

(u)
]
du+

1

2

∫ T

0

log f(u)du

+

∫ T

0

(1 − u)
µd

f(du)

f(u)
+
∑
j∈Af

[
log

(
1 +

af
j

f(tfj )

)
(1 − tfj )

]
− T

2
.

1� �����


1��� ����& �& �'����� 3+3+ ;� ���� �	��� �
� �
��	�� 
� �
����� �
� ��������� �	�����

�����

������%�%�� 1+0+ ��	 ��� 0 < T < 1


(
√
n(logRn

t − log
√

1 − t))t∈[0,T ] �
(

1√
2

∫ t

0

dBu

1 − u

)
t∈[0,T ]

,

�
�	� (Bu)u∈[0,1] ������� � ������	� >	������ �������

�	���� '	�� ���." ��� �.�-"� �� ��� �	���� ��	 t ∈ [0, T ]�

√
n(logRn

t − log
√

1 − t) =
√
n
(�nt�∑

j=1

log
[
pn

j (1 − pn
j )
]− 1

2
log(1 − t) + 2�nt� log 2

)

=
√
n

�nt�∑
j=1

(ρn
j − E

[
ρn

j

]
) + An(t) , �1��"

�
�	�

ρn
j = log

[
pn

j (1 − pn
j )
]

�1�."

��� �
� 	����� ��	��
�� An(t) �� ��3��� 
�

An(t) =
√
n


�nt�∑

j=1

E
[
ρn

j

]− 1

2
log(1 − t) + 2�nt� log 2


 . �1�1"

'�	��� ������ �
�� �� �
� �������� (1 − t)−α, (α > 0) �� ���	������ �� �
� ����	��� [0, T ]� ��


��� ��	 ��� t ∈ [0, T ]

1

n

�nt�∑
j=1

1

(1 − j−1
n

)α
≤
∫ T

0

du

(1 − u)α
:= Iα.

$� � 3	�� ���� �� �
�� �
�� �
� �	����� An(t) �����	��� �� 6� �����	��� �� �
� ����	���

[0, T ]� $������ ����� ���=������ �0��." �� �
� )������� ��� �
� ������������ �	���	���� ��



�
� ��������� (1 − x)−1 ��� (1 − x)−2 �� �
����

|An(t)| ≤ √
nC1

�nt�∑
j=1

1

(n− j + 1)2
+

√
n

2

∣∣∣∣∣∣
�nt�∑
j=1

1

n− j + 1
−
∫ t

0

du

1 − u

∣∣∣∣∣∣
≤ C1

n3/2

�nT �∑
j=1

1

(1 − j−1
n

)2
+

√
n

2


∫ T

0

du

1 − u
− 1

n

�nT �∑
j=1

1

1 − j−1
n




≤ 1√
n

(
C1I2 + (1 − T )−1(T + 2(1 − T )−1)

)
, �1�0"

��	 ���� ��������� C1, τ2 > 0. &
�� ������� �
�� An �����	��� �����	��� �� 0 �� �
� ����	���

[0, T ]�

;� ���� ��� �
�� �
�� �
� �	����� ��3��� �� �1��" �����	��� �� �
� ����� ����� �� �
�

�	���������� &� �
���� �
�� 	������ �� ���� ��� �
� ����	�� ��	������� �
��	�� ������ ��

�7����
��4������� ��� 7�F� ����1"# �&
��	�� !�0�. �� ..-"� $� �	��	 �� ��� �
�� ����	��

	������ �� 
��� �� �
��/ �
� ��������� �
	�� �����������C

�)�" '�	 ��� ε > 0�

lim
n→∞

�nT �∑
j=1

P
(|ρ̃n

j | ≥ ε
)

= 0.

�)." &
�	� ������ �� ε > 0, ���
 �
�� ��	 ��� t ∈ [0, T ]�

lim
n→∞

�nt�∑
j=1

E

(
�${|ρ̃n

j |<ε}ρ̃n
j

)
= 0.

�)1" &
�	� ������ �� ε > 0, ���
 �
�� ��	 ��� t ∈ [0, T ]�

lim
n→∞

�nt�∑
j=1

*�	
(
�${|ρ̃n

j |<ε}ρ̃n
j

)
=

∫ t

0

du

2(1 − u)2
=

t

2(1 − t)
,

�
�	� �� ���� �
� �������� ρ̃n
j =

√
n(ρn

j − E[ρn
j ]) ��� �$A ������� �
� ��������	 �������� ��

�
� ��� A�

��� �� 3	�� �
��/ �
�� �
� ���������� �)�" 
����� E���� ��	/��G� ���=������ ��� �
�

�������� �0��-" �� �
� )������� ��	 �
� ���	�
 ������ �� �
� �����	�� 	����� ��	��
�� ρ̃n
j

�� ��� �	��� ��	 ε > 0� n ∈ N∗ ��� j ∈ {1, . . . , n}

P
(|ρ̃n

j | ≥ ε
) ≤ n2

ε4
E(ρn

j − E[ρn
j ])4 ≤ n2C3

ε4(n− j + 1)4
�1�2"

���
 ���� �������� �������� C3. &
�� �����

�nT �∑
j=1

P
(|ρ̃n

j | ≥ ε
) ≤ C3I4

nε4
,



��� ���������� �)�" ��������

&� �	��� ���������� �)." ������ �
�� �
� 	����� ��	��
��� ρ̃n
j �	� �����	�� ��� �
�	���	� ��

�� ��H����� �� �
�� �
�� ��	 ��� ε > 0�

lim
n→∞

�nT �∑
j=1

E

(
�${|ρ̃n

j |≥ε}|ρ̃n
j |
)

= 0. �1�-"

<��� ����� 4���
� ,�
��	�% ���=������� �
� 
���� �1�2" ��� �
� �������� �0��0" �� �
�

)������� ������

E

(
�${|ρ̃n

j |≥ε}|ρ̃n
j |
)

≤
√
n*�	ρn

j

√
P
(
ρ̃n

j ≥ ε
) ≤ √

C2C3

n3/2ε2(1 − j−1
n

)3

���
 �������� ��������� C2, C3. &
�	���	� �� �
����

�nT �∑
j=1

E

(
�${|ρ̃n

j |≥ε}|ρ̃n
j |
)
≤

√
C2C3I3

n1/2
�1�!"

��� ���������� �)." ��������

&� �
�� �
� 	�������� �	���	�� �)1"� 3	�� ������ �
��� ��	 t ∈ [0, T ]� ����� �
� ��������

�0��1" �� �
� )������� ��	 �
� ��	����� �� ρ̃n
j � �� ��� ����� �
� ��	������� �� �
� ���=������

�1�0" �� ������ �
����

lim
n→∞

�nt�∑
j=1

*�	ρ̃n
j =

t

2(1 − t)
. �1� "

<���

*�	ρ̃n
j = *�	

(
ρ̃n

j �${|ρ̃n
j |<ε}

)
+ E

(
(ρ̃n

j )2�${|ρ̃n
j |≥ε}

)
+
[
E

(
ρ̃n

j �${|ρ̃n
j |≥ε}

)]2
.

(� �
� ��� 
���� ����� ���� ��	� �
� 4���
� ,�
��	�% ���=������ ��� �
� �������� �0��0"

��� �0��-" �� �
� )������� �� ��� ������ �
�� �
��

lim
n→∞

�nT �∑
j=1

E

(
(ρ̃n

j )2�${|ρ̃n
j |≥ε}

)
= 0.

(� �
� ��
�	 
���� �
�� ���� �������

lim
n→∞

�nT �∑
j=1

[
E

(
ρ̃n

j �${|ρ̃n
j |≥ε}

)]2
= 0,

��� ���������� �)1" 
����� �
��
 ��������� �
� �	��� �� �
� 8	���������� �



1�.� ����& �& �'����� 3+1+ &� �	��� &
��	�� .�1� �� ���� 3	�� �
�� �
�� �� �78 
����

��	 �
� ��������� �������� 	����� �����	� �� �
� ����	��� [0, T ] �0 < T < 1"

νn(dx) := −
�nT �∑
j=1

(ξn−j + 2 log 2)δj/n(dx),

�
�	� δy ������� �
� 7�	�� �����	� �� �
� ����� y, ξ1, . . . , ξn �	� ����������� 	����� ��	��

�
��� ����	�
���� ���
 �
�� ξi = log(xi(1 − xi)) ��� xi 
�� � β(i, i) ����	�
������ $������

�������� �
� ��� M+([0, T ]) �� ��� �������� �����	�� �� �
� ����	��� [0, T ] ���
 �
� ���/

��������� �� 
��� �
� ��������� �
��	���

�'����� 1+3+ !�
 �
#�
��
 �� 	����� �
���	
� (νn) ������
� �� ��� ���� � ���� ����
$

	��
 �������� ���
� ��

I2(µ) = −1

2

∫ T

0

log [2(1 − u)hµ(u)] du+

∫ T

0

(1 − u)µ(du)− T

2
, (µ ∈ M+([0, T ]), �1��"

�	���� &
� ���� �� �
� �	��� �� �� �
��/ �
�� �
� ����������� �� �
� �
��	��� 5I	���	�J����

�
��	�� �	� ���3���� ���� �
��	�� 0�2�.6 �� �7��
� ��� @����������� "#� �5��
�� �� �������"#�

�5��
�� ��� 5����������!"# ��� �<�����.66."#"� '�	 �
�� ��� f ∈ C([0, T ])� �� ���� 3	��

������� �
� ��	����%�� �������� ����	����� �������� �� νn �� ����� f �
�� ��

Λn(f) :=
1

n
log E (exp[nνn(f)])

=
1

n
log E


�nT �∏

j=1

exp [−nf(j/n)(ξn−j + 2 log 2)]




=
1

n

�nT �∑
j=1

[ψn−j (−nf [j/n]) − 2nf(j/n) log 2] . �1��6"

�
�	� ψn−j(t) = logE[etξn−j ] ������� �
� �������� ����	����� �������� �� �
� 	����� ��	��

�
�� ξn−j. <��� ����� �
� 	��	���������� �0�." ��	 �
� �������� ψk(t) �� �
� )�������� ��

�
����C

• '�	�� ����

sup
u∈[0,T ]

f(u)

1 − u
< 1.

'�	 n ��	�� �����
� Λn(f) �� 3���� ��� ����� �
� 	��	���������� �0�0" �� �
� )�������

�� ������� �
��

Λn(f) =
1

n

�nT �∑
j=1

{
−1

2
log

(
1 − nf(j/n)

n− j + 1

)

+ 4 [ϕ0 (n− j + 1 − nf [j/n]) − ϕ0(n− j + 1)]

− 2 [ϕ0 [2(n− j + 1 − nf [j/n])] − ϕ0(2n− 2j + 2)]

}
,



�
�	� �
� �������� ϕ0 �� ��3��� 
�

ϕ0(z) :=

∫ +∞

0

arctan( t
z
)

exp(2πt) − 1
dt. �1���"

>� ����� 0�� �� �
� )������� �� �
�	���	� �
���� �
� ��������∣∣∣∣∣∣Λn(f) +
1

n

�nT �∑
j=1

1

2
log

(
1 − nf(j/n)

n− j + 1

)∣∣∣∣∣∣ ≤
5I0

n2

�nT �∑
j=1

|f(j/n)|[(
1 − j−1

n
− f(j/n)

) ∧ (1 − j−1
n

)]2 ,
�
�	� a∧ b ������� �
� ������� �� a ��� b� &
�� ���� ���=������ ������ �� ��������

�
��

lim
n→∞

Λn(f) = −1

2

∫ T

0

log

(
1 − f(u)

1 − u

)
du. �1��."

• ,����� ����

sup
u∈[0,T ]

f(u)

1 − u
> 1.

)� f �� ����������� ��	 n ��	�� �����
� �� ����� ��� �� �
� ������� �� �1��6" ��

��3����� A����

lim
n→∞

Λn(f) = +∞. �1��1"

• &
�	� ���� supu∈[0,T ]
f(u)
1−u

= 1�

;� �� ��� /��� �� ����	�� �
�� 
������ �� �
�� ����� >��� �� �� �
� �	��� �� �
��	��

0 �� �5��
�� �� �������"# �� ���� ��� �����	�

<��� ��	 f ∈ C([0, T ])� ���

Λ(f) := −1

2

∫ T

0

log

(
1 − f(u)

1 − u

)
du.

'�	�
�	� ��	 µ ∈ M+([0, T ])� ���

Λ∗(µ) := sup
f∈C([0,T ])

[∫ T

0

f(u)µ(du)− Λ(f)

]
.

��/��� �
� �
���� �� ��	��
�� g(·) = f(·)/(1−·) �� �
� ���� �=������ ��� ����� �
� ������� 	��

����� �� ,������ 1 �� �>�	���� ��� ���������1"# �� ��� ������� �
�� ��	 ��� µ ∈ M+([0, T ])

Λ∗(µ) = I2(µ).

&
� 	�������� ��	� �� �
� �	��� ��� ������� 
� ������� �
� ���� �	������� �� ����� ��

�5��
�� �� �������"# �
�	� �
� ���
�	� ��� � ��	���� �� �
� 5I	���	�J�����>����G� �
��	��

���� �7��
� ��� @����������� "# �� �2!"� ;� ���� ���� �
� �/������ �� �
� �	��� ��� 	���	

�� �5��
�� �� �������"# ��	 ��	� ��������

&
� ����	 
���� �� �	���� �� � ��������� ��� 
� 3	�� �
����� �
�� �� 
���� ��	 ������� ����

��M+([0, T ])� &
�� �� � ��	��� �����=����� �� &
��	�� 0�2�1 
" �� �7��
� ��� @����������� "#�

&� ����	�� �
�� ����	 
���� �� ��� ������� ����� �� ��� �
� ��������� ����� �
�� ���� �
�

����������� ���
����� �� �
� ��=����� (νn)�




���� 1+1+

lim
a→+∞

lim sup
n→∞

1

n
log P

(
sup

f∈C([0,T ]):‖f‖∞=1

∫
[0,T ]

f(x)νn(dx) > a

)
= −∞. �1��0"

�	���� (
�������{
sup

f∈C([0,T ]):‖f‖∞=1

∫
[0,T ]

f(x)νn(dx) > a

}
⊂

−

�nT �∑
j=1

(ξn−j + 2 log 2) > a


 .

�
'�	�
�	��	� ��	/�� ����������� ���=������ ��� �
� ����� �� �1��." ����� ��	 θ < 1 − T

lim sup
n→∞

1

n
log P


−

�nT �∑
j=1

(ξn−j + 2 log 2) > a


 ≤

−θa +
1

2
[(1 − θ − T ) log(1 − θ − T ) − (1 − T ) log(1 − T ) − (1 − θ) log(1 − θ)] .

(�����%��� �
� ���� 
���� ���
 	������ �� θ < 1 − T �� 3����� �
����

lim sup
n→∞

1

n
log P


−

�nT �∑
j=1

(ξn−j + 2 log 2) > a


 ≤

−a1 + (T − 1)e2a

1 − e2a
+

1

2

[−T + 2(T − 1)e2a

1 − e2a
log

−T + 2(T − 1)e2a

1 − e2a

−(1 − T ) log(1 − T ) − (T − 2)e2a

1 − e2a
log

(T − 2)e2a

1 − e2a

]
�
��
 ������ �� �
� 	������

&
� ����	 
���� �� ��	� ���
������ )� ������ �� �� ��	��	��� ����� �
� ����
� �	�
�
�����

���
��=��� A�	�� �
� ������ �	�
�
����� ������� �� � �������� fµ ���������� �� �
� �����	� µ

�� �
��
 �� 	������	 �
� �	������ &
�	� �	� ����������� ��� ������ $� �
� 3	�� ��� �� �
��

�
�� �
�	� ����� ���� �����	�� ��	 �
��
 �
� ���������� ��������� ����� ��� ���� �� �
� 3	��

���� �� �
� �	������ ���������� �
��� �
� ����� �� �
� �������� Λn� ?���
��� ����/���� �
��

�� �=�������� �� �
� ���� �
�� �
� ���	���� �� �
� �������� Λ∗ �� �������� ��	 fµ� $� �
�

������ ���� �� �
�� �
�� �
��� ���� �����	�� �	� ����� �� �
� ����� M+([0, T ])� �
>� �
� ���� �	������� �� ����� �� �
� �	��� �� &
��	�� 0�� �� �<�����.66."# �� �
����

�	�� �
� ���� �
��	�� ��� �
� ����	������ �	������� �
� ��������� ��	����	��

����$$��� 1+5+ !�
 �	��
�� (− logRn
t )t∈[0,T ] ������
� �� ��� �� BV +

0 ([0, T ]) ���� � ����

	��
 �������� ���
� ��

I3(f) := −1

2

∫ T

0

log
[
2(1 − u)hµf

(u)
]
du+

∫ T

0

(1−u)µf(du)−T

2
, (f ∈ BV +

0 ([0, T ])), �1��2"

��
	
 ��
 �������� hµ ��� �

� �
��
� �� %&�'(�



'�	�
�	 �
� ������� W �	�� BV +
0 ([0, T ]) �� BV −

1 ([0, T ]) ��3��� 
�

W (f) = exp(−f) , (f ∈ BV +
0 ([0, T ]))

�� ����������� $������ exp(−f) 
�� ����� �� �
� ���� ������ �� �
� �������� f ��� �
�

���/ �����	����� �� �=�������� �� �
� ��������� �����	����� �� ��� �� ���������� ������ ��

�
� ������ A����� �
� �	��� �� &
��	�� .�1 ������� �	�� �
� ����	������ �	������� ��� �
�

���� 4�	����	��

0� 	

������ 	����� ��� β ��
���������

��� α, β > −1� 	����� �
�� �
� ����	�
����� β(α, β) �� �
� �	�
�
����� �����	� �� �
�

����	��� [0, 1] ���
 �������

fα,β(x) =
xβ(1 − x)α

B(β + 1, α+ 1)
, (x ∈ [0, 1]),

�
�	� �
� �
�� ���
�	�� B ��� 
� ���	����� 
� �
� ��� �� �
� )���� ��������C

B(p, q) =

∫ 1

0

xp−1(1 − x)q−1dx =
Γ(p)Γ(q)

Γ(p + q)
, (p, q > 0).

'�	 ��� ������	 k� ��� ιk 
� � 	����� ��	��
�� ���
 ����	�
����� β(k, k) ��� ���

ξk = log [ιk(1 − ιk)] = log ιk + log(1 − ιk). �0��"

)� 4 exp ξk ∼ β(−1
2
, k)� ��	 τ ∈ R� �
� �������� ����	����� �������� �� ξk �� ����� 
�

ψk(τ) = log E[exp(τξk)] =




2 log Γ(τ + k + 1) + log Γ(2k + 2)

− log Γ(2τ + 2k + 2) − 2 log Γ(k + 1) �� τ > −1 − k

+∞ ��
�	�����

�0�."

'�	 z ∈ C ���
 �(z) > 0� >����G� ������ ��	���� ���� ��	 �)
	������% ��� ,����� ���-0"#"�

����� �� ����	������ ���	������ ��	 �
� log Γ ��������� �
�� ��

log Γ(z) = (z − 1

2
) log z − z +

1

2
log 2π + 2ϕ0(z), �0�1"

�
�	� �
� �������� ϕ0 �� ��3��� 
�

ϕ0(z) :=

∫ +∞

0

arctan( t
z
)

exp(2πt) − 1
dt.

E���� �
�� 	��	���������� �� ��� 	��	���� ��	 τ > −1 − k

ψk(τ) = −1

2
log

(
1 +

τ

k + 1

)
− 2τ log 2

+ 4 [ϕ0(τ + k + 1) − ϕ0(k + 1)]

+ 2 [ϕ0(2k + 2) − ϕ0(2τ + 2k + 2)] . �0�0"



��	����	� �
� 3	�� ��	������� �� ψk ��� 
� 	��	������� ��

ψ′
k(τ) = − 1

2(k + 1 + τ)
− 2 log 2

+ 4 [ϕ′
0(τ + k + 1) − ϕ′

0(2τ + 2k + 2)] , �0�2"

���� ��	 l ≥ 2 ������	� �
� ��	������� �� �	��	 l �� ψ
(l)
k ��

ψ
(l)
k (τ) =

(−1)l(l − 1)!

2(k + 1 + τ)l
+ 4ϕ

(l)
0 (τ + k + 1) − 2l+1ϕ

(l)
0 (2τ + 2k + 2). �0�-"

'	�� �
� ���� �=������� �� ��� ������

E(ξk) = ψ′
k(0) = − 1

2(k + 1)
− 2 log 2

+4 [ϕ′
0(k + 1) − ϕ′

0(2k + 2)] , �0�!"

*�	(ξk) = ψ′′
k(0) =

1

2(k + 1)2
+ 4 [ϕ′′

0(k + 1) − 2ϕ′′
0(2k + 2)] , �0� "

E [ξk − E(ξk)]
4 = ψ

(4)
k (0) + 3 [ψ′′

k(0)]
2

=
15

4(k + 1)4
+ 4ϕ

(4)
0 (k + 1)

−32ϕ
(4)
0 (2k + 2) +

12 (ϕ′′
0(k + 1) − 2ϕ′′

0(2k + 2))

(k + 1)2

+48 [ϕ′′
0(k + 1) − 2ϕ′′

0(2k + 2)]
2
. �0��"

'�	�
�	� �� 
��� �
� ��������� �
����� ������


���� 5+0+ ��	 α > 0 ��� η > −α

|ϕ0(α+ η) − ϕ0(α)| ≤ |η|
(α ∧ (α+ η))2

I0, �0��6"

|ϕ′
0(α)| ≤ I0

α2
, |ϕ(2)

0 (α)| ≤ 2I0

α3
��� |ϕ(4)

0 (α)| ≤ 72I0

α5
. �0���"

����

I0 =

∫ +∞

0

t

exp(2πt) − 1
dt.
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����� ��	 �
� ������� �� �
� 	����� ��	��
��� ξk∣∣∣∣E(ξk) −
(
− 1

2(k + 1)
− 2 log 2

)∣∣∣∣ ≤ 5I0

(k + 1)2
:=

C1

(k + 1)2
, �0��."∣∣∣∣*�	(ξk) − 1

2(k + 1)2

∣∣∣∣ ≤ 10I0

(k + 1)3
=

2C1

(k + 1)3
, �0��1"

*�	(ξk) ≤ 1

2(k + 1)2
+

10I0

(k + 1)3
≤ 1/2 + 10I0

(k + 1)2
≤ C2

(k + 1)2
, �0��0"

E [ξk − E(ξk)]
4

≤ 15

4(k + 1)4
+

319I0

(k + 1)5
+

300I2
0

(k + 1)6
�0��2"

≤ 15/4 + 319I0 + 300I2
0

(k + 1)4
≤ C3

(k + 1)4
�0��-"

���
 �������� ��������� C1, C2, C3.
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